LABJNDu3 standard lightnessL*
Yn=L* w

L* nc_l ’
L* | aBanDuz=[IN[(A 1r+A2a)I(A 2nA0n)] (Yno/100<Y<=Y,0)
L* \(3.6)=218 L* ,(18)=496 L*y,(90)=772

log[L*/L*

/
L*o(=771,96, /1\,,,=1 200, G=0,6%
L*14=495,86, A,=C §11. A,=0,§038

= | application
L*3=218,08/% = :s ,86 Y= 18, a%e

ALY
LAL*
L* | aBanDus=[IN[(A 10+ A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)

LABJINDuS3 relative standard lightnessL*/L* ,

YoceL*w - n™

L* \(3,6)=218,L* ,(18)=496 L* (90)=772
L*gg/L*,=1,55, Ay=1,500, ¢=0,67
L* gL* =0,011, A= 00038
L* dL* =0, 43 L*; =495 ,86 Y=1i
log[L*/L* ,]=0, m,=0,33
application
range

Y,=18

L
Y36

Y18
TY=90

LABJINDu3
tristimulus value difference

YacmL*w  nc=100,
L* L aBanDuz=[IN[(A 1r+A2a)I(A 2nA0n)] (Yad/ 100<Y<=Y0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon, DGFl 5, Aon,a=1,0, see CIE 230:2019
dV5=0,54, Ay=1,500, ¢=0,67
dY;g=0,12, A =0, 011 Agn 0,0038
dY36:003 Y,=18, dY;=0,12

L* ;=496 dY,=0,12 dY,/Y,=0,0067,
a

application
range

Iog(AY/AY )

T3 Yg=90

LABJNDuS3 relative
tristimulus value difference
INTNA YorLrw - ne=l

L* L aanDus=[IN[(A 1n+A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
dY/dY,=AgnA 11+AanYI/dY,

dYeo/dY,=4,43, Ay=1,500, ¢=0,67
=0,011, Az :o,oo

dYygdY,;
deQdY 031\‘?1 =18, dY=0,12

L* =496 dY,=

7
12 dY,/Y,=0, 0067 s
7

application
1 range

1Y,=18

Y518

log (AY/Y) LABJINDuU3
tristimulus value sensitivity

SHEYY Yoc=L*w - nc=100,
L* Laganpua=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
AYIY=Agn[A 1+ A YIIY

(dY/Y}¢=0,0060, Ay=1
(dY/Y)¢=0,0067, A =0 ,Ag
(dY/Y} ¢=0,0105 Yu=1& dY=0,12

application

log(dY/Y}F-2,16 m;=-0,To> ~ _ 5= - 1ange
L* =496 dY,=0,12 dY,/Y,=0, 0067i
:Yufl8

Yy =90

0, O

Yn=3.6

log (Y/AY) LABJNDu3 |
tristimulus value contrast

C=(VinY) Veap s e 8
L* Laganpua=[IN[(A 1n+A2nV)I/(A 2nA0n)] (Yac/100<Y<=Y,o)
YIAY=Y/[Agn(A1ntA2nY)]

(Y/dY 166,14, A=1,500, 6=0,67
(Y/dY% 147,53, A=0,011, A,=0,0038

(Y/dY} =94,56 Y,=18, dY=0,12
L* (=496, dY,=0,12, Y,/dY,=147

log(Y/dY)=2,16 m;=0,13 - = =

application
range

log [AYY) I (AYIY),]

YN=3.6 . Yw=90

LABJNDuS3 relative
_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,
L* Laganpua=[IN[(A 1n+A2nV)V(A 2rA0n)] (Yae/100<Y<=Yyo)
(AY/YYAYIY =(ArtAg Y)Y (dY/Y),]
(dY/Yyo/(dY/Y)=0,88, Ap=1,500, ¢=0,67
~0,0038

(dY/Y)g(dY/Y)=1.00, Ap=0.011,
(dY/Y%i;(dY/YL—-l,SG %Ea d\g:éz,’iz

log[(dY/Y)(dY/Y)]=0, m;=-0,13 1

* =498 dY,=0,12 dY,/Y,=0,0067,
1y,=18
Yy=90

application
range

Yn=3,6
LABJNDuS3 relative

og [(Y/AY)  (YAY),]
tistimulus value contrast
CrlCru=(YIMY(YIAY)y N = =1

L* L aBanDuz=[IN[(A 1n+A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
(YVIAYY(YIAY), =Y IYIAY Y )TA onAqrAgr VI (Y/AY),

(Y/dYpo/(YIdY)=1,12, Ay=1,500, ¢=0,67
(Y/A¥ig/(Y/dY) =100, A=0,011, 4,=0.0038
(Y/dY%d(Y/dY =0,64 Y,=18, d\=0,1

0,

L* =496 dY,=0,12 Y,/d¥., %47~

v < 1 application
1 range
1y,=18

Yy=90

YN=3.6



